1A FrL vy IF 2 FEEE S

D (+4) + (+3)
+ (4743)

7

® (=5) + (-2)
- - (572

-7

® (+4) — (-6)

(+4) # (+6)

+ (%*8)
= 0

@ 0— (+6)
OFrC-8)

-—
-
—
vore

® —2-7

-7

{1

{1

-—
-
-

@ (+6) x (—=2)

= =2

® (-5) 2
5%_2#

® (+36) + (-9)

= ._./4

@ (—8) = (+24)

j
[
I e —
_— ¥
el

iy

L
3

Yk S5

1% #H ' KRE(

@ (=3) +0
= -3

@ (—=2) + (+9)
= #(F2)

::.—f-/7

® (-1) - (-3)
(=) A lr3)
#(J -/)
72

- 9+3

T W b

@ (—4) x (+11)

= —gK

—5°2
= w20

(=144) + (-12)
= AR

oo (P X200 5)

-

IRy 4

L
L



(=3) x (=8) + (=2) @ (=3)2x (—42)

®
= (-»3))((-*9)*'(".‘;') = (—/—?)x(—//)
R - - kK
= /2
@ 4-12+14-2 @ —-6+11-15+8
= 4 p Y22 = AP -EK
s g py¥-IK = ,2-2/

. -3

:,}( =

@ (+9) +6—(—-14) — (+5)
= (#9) #E 7 (#/5) + (&)
= FFEAIE -
= 27 -<

= a¥

(=22 = (=4) 2+ (-8)
s (—4) = (#/8)F )

(-4 —(-2)

() #(+2)

—K r2

-2

@ (=8) X3+ (=8) x97

=PIk (3¢ 9P)
- /-v-ﬁ)x /00
= - ey

Yy

L T I



)

®

®

-
-

-

—
-

—

iy

fa

-
2

®

@

®

@

—

(+2) + (+3)
=+ (213)
> §

(—8) + (—2)
—(Pr2)

_'/é

(+4) — (=7)
= (+€) ¢ (*7)
P #2T)
7 //
@ 0- (—6)

O+ (#4)
+8

—8—-6

—/¥

(+9) x (=2)

(+45) =+ (=9)

oS
-

(=6) ~ (+18)

—

—&

BN RSN

154 FrL v I TR MY BHEQ

1 M & K&I(

@ (=5) +0
=&

@ (—4) + (+8)
= tlP-%)
s 1"}(

® (—=3) - (=5)

= EDF(EE)
= #(53)

@ (—4) x (+13)
= -2

— 372

4

(=72) =+ (=12)
= 74

(—4) x (=2) x (+5)
2 (%) x (-r0)
* KO



(=3) x (=10) + (—=2) (=5) 2x (—2%)

= — 2R = (p28) X(-5)
= - g = - 00
@ 4-12+14-2 @ —-6+11—-15+38
2 Gt Y =122 =l -80S
= ptf-1¥ =,0-=/
= }( - —'z

@ (+9) +6—(—-14) — (+5)
.:_2?—-9"‘

;,1/44

(=22%) = (=4) 2+ (—8)

= _.¢ -8 7 (-A)

=~ —(-2)
= —¥r2
= -2

@ (—8) X34+ (—8) x97
= (-P)x (37 7F)
= /.-J))x/éa‘

Bl = (‘P&C?



1A FrL vy 52 M EER

1F£ M % K& [
D (+6) + (+5) ® (1) +o0
:4'(57‘5‘) =
=2/
® (=7) + (=2) @ (—4) + (+2)
= —(7#2) = —(#-2)
== = -2
® (+4) — (=3) ® (=3) - (-2)
=(74) +(*3) = 3 +(+2)
=t = —(3-2)
7 -
@D 0— (+3) -6+9
;01‘(’?) ;3
> -3
@ —-5-7 ™ —-2+8—6
= -/ 2 =/)".2"‘/
= -F
= 2
@ (+2) x (—6) ® (—6) x (+38)
=-/2 - 4P
® (—8) 2 -9
- ¥ ——b/f
® (—64) + (—8) (-42) +(=7)
= £FH =24
@ (=13) + (+15) (=6) X (=3) x (+2)
_ L2 = (-8) x(-&)
/S8 _
= 2F



(_4) 2 % (—52)

(=4) x (=6) + (=2)
- _ ¥xs el
A /8 )
= 2 el
@ 4-12+14-2 @ S6%d Il 5t g
R =l P =& /5
. {cf/’*'?-/f;( i /;‘12/
= ’)Z

= 4

® (+9) +6- (=14) = (+5)
=7 rdrr¥ - &
= 20-8
_:.l;(
@ (—22) — (—4) 2+ (—8)

1§

-4 - /o"?(‘”ﬁ)
- #—(-2)

— g2

= =2

(—8) X3+ (=8) x97

)

(~#)rro8
R .

i)



